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https://www.bayer.com/en/agriculture/sustainable-agriculture
https://www.bayer.com/en/agriculture/sustainable-agriculture
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mailto:alexey.kuzmenkin@bayer.com
mailto:christophe.labyt@kynetec.com
mailto:stephen.hearn@kynetec.com
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https://www.fao.org/faostat/en/#data/QCL
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1. 

2. 

3. 

4. 

𝑀𝑎𝑟𝑘𝑒𝑡 𝑠ℎ𝑎𝑟𝑒 (𝑖𝑛 𝑎 𝐶𝐶𝐶)  =
𝐻𝑒𝑐𝑡𝑎𝑟𝑒𝑠 𝑡𝑟𝑒𝑎𝑡𝑒𝑑 𝑤𝑖𝑡ℎ 𝐵𝑎𝑦𝑒𝑟 𝑝𝑟𝑜𝑑𝑢𝑐𝑡𝑠 𝑖𝑛 𝑒𝑛𝑡𝑖𝑟𝑒 𝑚𝑎𝑟𝑘𝑒𝑡 

𝑇𝑜𝑡𝑎𝑙 ℎ𝑒𝑐𝑡𝑎𝑟𝑒𝑠 𝑡𝑟𝑒𝑎𝑡𝑒𝑑 𝑤𝑖𝑡ℎ 𝑐𝑟𝑜𝑝 𝑝𝑟𝑜𝑡𝑒𝑐𝑡𝑖𝑜𝑛 𝑖𝑛 𝑒𝑛𝑡𝑖𝑟𝑒 𝑚𝑎𝑟𝑘𝑒𝑡 
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𝑆ℎ𝑎𝑟𝑒 𝑜𝑓 𝑤𝑎𝑙𝑙𝑒𝑡 (𝑜𝑛 𝑎 𝑓𝑎𝑟𝑚)  =
𝐻𝑒𝑐𝑡𝑎𝑟𝑒𝑠 𝑡𝑟𝑒𝑎𝑡𝑒𝑑 𝑤𝑖𝑡ℎ 𝐵𝑎𝑦𝑒𝑟 𝑝𝑟𝑜𝑑𝑢𝑐𝑡𝑠 𝑜𝑛 𝑡ℎ𝑒 𝑓𝑎𝑟𝑚 

𝑇𝑜𝑡𝑎𝑙 ℎ𝑒𝑐𝑡𝑎𝑟𝑒𝑠 𝑡𝑟𝑒𝑎𝑡𝑒𝑑 𝑤𝑖𝑡ℎ 𝑐𝑟𝑜𝑝 𝑝𝑟𝑜𝑡𝑒𝑐𝑡𝑖𝑜𝑛 𝑜𝑛 𝑡ℎ𝑒 𝑓𝑎𝑟𝑚 
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7

 

 

 

 

 

 

 

 

 
7 A tier represents a level of methodological complexity used in GHG calculation. There are three tiers namely Tier 1, Tier 2, Tier 3. Tier 1 is 

the basic method, Tier 2 represents the intermediate while Tier 3 is the most complex in terms of the methodology. 

 

http://www.coolfarmtool.org/
https://coolfarmtool.org/cool-farm-alliance/members/
https://coolfarmtool.org/wp-content/uploads/2016/09/Data-Input-Guide.pdf
https://coolfarmtool.org/coolfarmtool/frequently-asked-questions/
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𝐺𝐻𝐺𝐵𝐿,𝑠𝑝𝑒𝑐
𝐶𝐶𝐶 =  

∑ 𝐺𝐻𝐺𝑖,𝐵𝐿
𝐶𝐶𝐶𝑘

𝑖=1

∑ 𝑊𝑖,𝐵𝐿
𝐶𝐶𝐶𝑘

𝑖=1

              (𝐾𝑔𝐶𝑂2/K𝑔𝐶𝑟𝑜𝑝)

• 𝐺𝐻𝐺𝐵𝐿,𝑠𝑝𝑒𝑐
𝐶𝐶𝐶

• 𝐺𝐻𝐺𝑖,𝐵𝐿
𝐶𝐶𝐶

• 𝑊𝑖,𝐵𝐿
𝐶𝐶𝐶

𝐺𝐻𝐺𝑡,𝑠𝑝𝑒𝑐
𝐶𝐶𝐶 =  

∑ 𝐺𝐻𝐺𝑖,𝑡
𝐶𝐶𝐶𝑛

𝑖=1

∑ 𝑊𝑖,𝑡
𝐶𝐶𝐶𝑛

𝑖=1

                (𝐾𝑔𝐶𝑂2𝑒/𝑘𝑔𝐶𝑟𝑜𝑝)

• 𝐺𝐻𝐺𝑡,𝑠𝑝𝑒𝑐
𝐶𝐶𝐶

• 𝐺𝐻𝐺𝑖,𝑡
𝐶𝐶𝐶

• 𝑊𝑖,𝑡
𝐶𝐶𝐶

𝑅𝑡
𝐶𝐶𝐶 = [1 −

𝐺𝐻𝐺𝑡,𝑠𝑝𝑒𝑐
𝐶𝐶𝐶

𝐺𝐻𝐺𝐵𝐿,𝑠𝑝𝑒𝑐
𝐶𝐶𝐶  

 ] 𝑥 100                  

• 𝑅𝑡
𝐶𝐶𝐶

𝑇𝐴𝑡
𝐶𝐶𝐶 = [

𝑅𝑡
𝐶𝐶𝐶

𝑇𝐶𝐶𝐶 
 ] 𝑥 100%           

• 𝑇𝐴𝑡
𝐶𝐶𝐶

• 𝑇𝐶𝐶𝐶  
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𝐺𝐻𝐺𝐵𝐿,𝑠𝑝𝑒𝑐
𝐶𝐶𝐶 𝑊𝑓𝐶𝐶𝐶

𝐺𝐻𝐺𝐵𝐿,𝑎𝑔𝑔 =  ∑ 𝐺𝐻𝐺𝐵𝐿,𝑠𝑝𝑒𝑐
𝐶𝐶𝐶  𝑥 𝑊𝑓𝐶𝐶𝐶                     (𝐾𝑔𝐶𝑂2𝑒/𝑘𝑔𝑐𝑟𝑜𝑝)

𝐶𝐶𝐶

• 𝐺𝐻𝐺𝐵𝐿,𝑎𝑔𝑔 

• 𝐺𝐻𝐺𝐵𝐿,𝑠𝑝𝑒𝑐
𝐶𝐶𝐶

• 𝑊𝑓𝐶𝐶𝐶     

𝑊𝑓𝐶𝐶𝐶

kg CO2e

𝑊𝑓𝐶𝐶𝐶 =  
𝑃𝐶𝐶𝐶  𝑥 𝑀𝐶𝐶𝐶  𝑥 𝐺𝐻𝐺𝐵𝐿,𝑠𝑝𝑒𝑐

𝐶𝐶𝐶

∑ 𝑃𝐶𝐶𝐶  𝑥 𝑀𝐶𝐶𝐶  𝑥 𝐺𝐻𝐺𝐵𝐿,𝑠𝑝𝑒𝑐
𝐶𝐶𝐶

𝐶𝐶𝐶

=
𝑇𝑜𝑡𝑎𝑙 𝐺𝐻𝐺

𝑠𝑢𝑚 𝑜𝑓 𝑇𝑜𝑡𝑎𝑙 𝐺𝐻𝐺 𝑎𝑐𝑟𝑜𝑠𝑠 𝐶𝐶𝐶´𝑠
  (𝑢𝑛𝑖𝑡𝑙𝑒𝑠𝑠)

• 𝑊𝑓𝐶𝐶𝐶 =

• 𝑃𝐶𝐶𝐶 =

• 𝑀𝐶𝐶𝐶 =

• 𝐺𝐻𝐺𝐵𝐿,𝑠𝑝𝑒𝑐
𝐶𝐶𝐶

𝐺𝐻𝐺𝑡,𝑠𝑝𝑒𝑐
𝐶𝐶𝐶

𝑊𝑓𝐶𝐶𝐶

𝐺𝐻𝐺𝑡,𝑎𝑔𝑔 =  ∑ 𝐺𝐻𝐺𝑡,𝑠𝑝𝑒𝑐
𝐶𝐶𝐶  𝑥 𝑊𝑓𝐶𝐶𝐶

𝐶𝐶𝐶

                      (𝑘𝑔𝐶𝑂2𝑒/𝑘𝑔𝑐𝑟𝑜𝑝)

• 𝐺𝐻𝐺𝑡,𝑎𝑔𝑔 

• 𝑊𝑓𝐶𝐶𝐶 =

• 𝐺𝐻𝐺𝑡,𝑠𝑝𝑒𝑐
𝐶𝐶𝐶

𝑅𝑡 = [1 −
𝐺𝐻𝐺𝑡,𝑎𝑔𝑔

𝐺𝐻𝐺𝐵𝐿,𝑎𝑔𝑔 
 ] 𝑥 100                 (%)

 
9 Note: Base year is CCC-specific. 
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• 𝑅𝑡

𝑇𝐴𝑡 = [
𝑅𝑡

30% 
 ] 𝑥 100                            (%) 

• 𝑇𝐴𝑡

• 

• 

• 

• 

• 
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